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1. This booklet consists of 24 pages including this fronf page. Verify/t
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and Nepali except those questions which are meant for English language only. In ¢

of any ambiguity, doubt or discrepancy in the translation into other 1
would reiy on the English version,

2. Answers will have to be given in the Special ﬂﬁswer~$heet {[OMR Answer Sheets),
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of the OMR Answer Sheet, : '

3. Before you proceed to mark on the Answer Sheet in response to various items in the
Question Booklet, you have to fill in some particulars in the Answerf Sheet. You must
also write the Question Booklet No. on the Attendance Sheet. Do not foldthe Answer
Sheet as this will result in error in your marl

4. All questions have four probable answers (&), (B), (C) and (D). Find ¢utAvhicth of the four
- answers appears fo you to be correct or the best. Now darken the |tifcle co responding
to the letter of the selected answer in the OMR Answer Sheet with [Black B4ll Pdint Pen
as per instructions sent along with the Admit Card,

5. If more than one circle is encoded for a particular answer, it will bk treated ad
answer,

page number of

6, AYath of the allotted marks (i.e. 0.375) will be deducted for each wrong apsy
7. There is a blank page at the end of this booklet for Rough Work.

8. 'The Special Answer Sheet (both pages intact) should be handed over to the Ir
before leaving the Examination Hall. Candidates are then permitted to le
hall with the Question Booklet. The Special Answer Sheet (OMR) is the pro
the Board and must be returned to the Invigilator, Wy i
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i 1 The only woman ruler to siton the throne of Delhi
8 #,hultanate was

7 . (A) Jahan-Ara
(B) Mumtaz Mahal
'~ (C) Noor Jahan i P
(D) Raziya Sultana

%maﬂ@ﬁﬁﬁ%ﬁwwﬁ
AW, SE A )

(A) FE-ral

(B) et wgs
(C) T EEA

(D) =i serem

-ﬁﬁ-ﬁwﬁhﬁﬁmmmﬁﬁwmﬁh

(A) STRH-HAT '

- (B) AT " '
(C) T =M
(D) s gerar

feweit TemAaH IIEA TH U HTF Hieen &
(A) STEMF-FR '
(B) HHAS WET

(C) TLSTEM

(D) Tfsram e

2

2. Fill in the blank:
ZAg, Y8, XCy, WD,
(A) W,E
(B) EV
Q) VE,

(D) VE,

*ATEM 29 F 3
ZA;, ¥ B, XC, W.D,

50 Sy
(A) V,E
(B) EJV
(C) VE,

(D) VE,

-

T T = ui -
ZA, :Y,B, }:c‘ w.c:-

(A) V,E
(B} EV
(C) VE,
(D) VE,

T v o

ZA,, Y,B,XC,, W,D,
(A) KE

(B) EV

(©) VE

D) VE,
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3. Anauthorwho writes the story of another person’s
life in known as

(A) Historian

.--"‘.{B] Btﬂg’l’ﬂp]lﬂl‘
(C) Chronicler
(D) Diarist

4. Choose from the following alternatives the word
which is opposite in meaning to the word “Ample”.

(A) Sufficient -
(B) Rare
(C) Insufficient
(D) Enough

3. A copper sphere of radius 6 cm is melted to form
spheres of radius of 2 cm. How many such spheres can
be formed?

(A) 27
(B) 31

© 14
(D) 36

6 cm Y BB i v e fF @ 2 em
e S = (oiies todt = T

(A) 27

(B) 31

(©) 14

(D) 36

6 cm 511 =1et A9 % U e #1 faeens 2 cm
oo =1 fora TiTeTen =T, S Hehat € 7

(A) 27

(B) 31

(C) 14

(D) 36

6 cm tfEag ﬂmmﬁﬁﬂWZEmmﬂ
mmmﬁmmw :

(A) 27

(B) 31

(C) 14

(D) 36
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6. The change of state of a matter directly from solid
to gas is called
(A) Sublimation
(B) Condensation
(C) Evaporation
(D) Deposition

T wiea i e ot FAEE s wEEE
welrera afraia am e
= Bm Teforen
(B) 9Area+
(C) ol

{E:} AT O
|

o s A i A s A ufEd
FEAE |

(A) FeEqEA
(B) =R
(C) amsdteo
(D) 3=

T e ' AT’ svervr e Tl T o e
VT, 1 Yerefs AW

(A) ST

(B) =t

(C) arsdtam

(D) =89
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7. Conversion of 0-5% in decimal is
(A) 0-005
(B) 0.05
(C) 5/100
(D) 0.-5% 10

0-5% = W #fF9s a0 O O o4
(A) 0-005

(B) 0.05

(C) 5100

(D) 0-5x 10

0-5% =1 <9 & vfiafias w07 5 39 9 2
E?-ﬂ-ms
) 0-05
(C) 5/100
(D) 05x10

0-5% = Zwfem afE ™ Ha O 52
(A) 0-005

(B) 005

(C) 5/100

(D) 05 x 10

8. Rabindranath Tagore wrote under the pseudonym

{A) Parasuram
(B) Birbal

(C) Bonophul
(D) Bhanu Singha

AL S @ WA Erare ¢if %= ¢

(A) =iea™
@

(B) ===
(C) ==

i 1Y iR 5 o T & foma 97
(A) TH .

(B) #iEe

(C) = get

(D) wrifeE

Tal, e T & T 37 A o fordt
(A) TROH ’
(B) =iEel

(C) =TEET

(D) wigfEe

9. A child who has lost both of his parents is called—
(A) A prodigy .
(B) A vagrant
(C) A street child

- (D) An orphan

10. Choose the correct antonym of the underlined
word: “Angels descend from heaven.”

(A) Blaze forth —

(B) Float Sr T
(C) Gallop ""._’E_F
(D) Come down - '

"

11. How many tiersare there in the Panchayat system
in West Bengal?

(A) Five
(B) Two
(C) Four
(D) Three

AR5 SIS aEE I g wig

{/

(B) &
(€) o=
(D) f&m
afires set F e wewen | fead ww E?
(A) |
(B) =
(C) =R
(D) =

- IR ST W Ve S W W )
(A) =
(B) 58
(C) =R
(D) A
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12. The Right to Information Act was passed in 13. The age of the father 10 years ago was thrice the
the year : age of his son. Ten years hence, father’s age will be twice
(A) 1952 : that of his son. The ratio of their present age is
(B) 1977 (A} 7:3
(C) 2005 \ i (B) 5:2 2]
(D) 2000 mr— (€ 9:2
fbﬂ‘“‘— @) 13:4 20 Ei
~r [\ = PR -3
Yh - | 2o+l 10 -+ 2
(107 =t 3 Tt T T femed fim,
@y il S e G A o 7 e (0)zez == < ez TACH faod 2 A @
(A) 1952 | e TE TR S A
® 1917 @ 1:3 7 54
~€) 2005 %5 +2 L, o — 10 = Tkl
(D) 2000 9:2 2,18 _ 710
(D) 13:4 7 ] ppeo
. At
o R s )T e
fn- 20°= AT
CES : 107 g foar =it &7 O3 91 g & A= 7w 9 1 =5
o 7 fe s fov : ::ﬁﬂ:ﬁﬁﬁ::ga:mga&ﬁmﬁﬁwmrmw
(A) 1952 | iy fa iy a0
(B) 1977 ®) 5:2
(C) 2005 © 9:2
L (D) 13:4
(2~ 10)
. 10 =f STt ot g @ e i T T 1 2w
A e g O v e ifafResraa e
T AvEr Afutrm g adm o wd? | o e wh e
(A) 1952 it (A) 7:3
(B) 1977 e (B) 5:2
(C) 2005 _ . (©)9:2
(D) 2000 : . i ' (D) 13:4
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14. A rectangle has width of 5 cm and diagonal of
13 cm. Find its perimeter.

(A) 34 cm
(B) 36 cm
(C) 30em
(D) 38 cm

T SACCFCET &% 5 om 9w T 13 cm TA
CFAY = FH i Fo 24 _ '

(A) 34cm
(B) 36 cm
(C) 30 cm
(D) 38 cm

T 3Tad it A 5 cm 70 F7 13 cm ¥ | 5951
i # !

(A) 3dcm

(B) 36 cm

(C) 30cm

(D) 38 cm

U3 WA A2E 5 em TF0 13 cm 81 IEH
g 8 . ; "

(A) 34cm .

(B) 36em

(C) 30cem

(D) 38 cm

15. Theaverage age of mother and her six children is
12 years, which is reduced by 5 years if the age of the
mother is excluded. The age of the mother is

(A) 40 years
(B) "48 years
(C) 50 years
(D) 42 years

e [ I BT B HENE T 516 12 I |
A T3 AW T 7 91T 5 T8 T 4 | AT TTH TS0

(A) 4035/

(B) 48 3&7= .
(C) 50 as¥@

(D) 42357

T Al OE 3 T w9 oftma g 1299 ¥ ot
:ﬁﬂmﬁmaﬁﬂﬁaﬂsaﬁmﬁrﬁﬁlﬁaﬁm

(A) 4054

(B) 48 7d

(C) 50=d

(D) 42 =

S HIN T ST B weEa st o 12
T | ST ST g sfn o 5 ade % g S
311 i 82 _

(A) 4054
(B) 48 a4
(C) 509
(D) 42 =7
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16. Find the exact number of squares in the fu]]awmg 17. Full form of FIR is
figure: A o i (A) First Investigation Report
(A) 16 - (B) First Information Report
(B) 15 -] (C) First Incident Report
© 12 ’ (D) First Instance Report
(D) 18
D —C
Z
% g Aq T [j
forsa 2fRifbre it Isfrwas 4t 2= 3 .
\ VFIR-43 {<ff* el 201 &
A B (A) First Investigation Report
(A) 16 . .
B) 15 l ¢(B) First Information Report
®) f (C) First Incident Report
R J L_| (D) First Instance Report
(D) 18 :
D C
Tt fad T o & ol = o e o
| A ' B FIR® q9 7 € :
(A) 16 — | 1 (A) First Investigation Report
(B) 15 F (B) First Information Report
(C) 12 ’ ‘ (C) First Incident Report
(D) First Instance Report
(D) 18 D e | 18
_ v
AR Fermn i W e A
A B
(A) 16 FIR %! g0 ¥ 2 :
B) 15 i (A) First Investigation Report
(©) 12 l (B) First Information Report
(D) 18 | — . (C) First Incident Report
D ' C-fla . (D) First Instance Report
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18. Who was popularly known as *Sher-e-Punjab'? 19. A man has some hens and cows. If the number of
(A) Bhagat Singh heads be 48 and the number of legs equals to 140, then
(B) " Jal Praknsh Naruysa the number of hen will be
(C) Lala Lajpat Rai (A) 22
(D) Ram Monohar Lohia (B) 23

(C) 26
(D) 24
‘CR-a-oNg’ A AR e Wﬂm&gwﬁlmamfﬁwﬁ
(A) ©5% fg TSI ST GG 7R 48 @R Wmﬁmﬂn 14073, %19
(B) & il gl mﬁammﬁﬁﬁfﬁ? :
() s TR (4) 22 m \C

. . (B) 23 '5
(D) = WATER A © 26 % 4{(

(D) 24 ﬁ L\ \ w?
) eyt =L

"IR-u-verE’ & W B faem 92 Eﬂlﬁﬂ_ﬁﬂmﬂﬁ'ﬁﬁﬂfﬁ?ﬁ%mﬁ?ﬁﬂaﬁ
b b i $@4s€l@ﬁﬁaﬁ§amuu€wﬁgﬁﬁﬁﬁw
p b G ) 2

(B) 23
(D) I HHET SEd (C) 26

(D) 24

T =i O e
‘ﬂx—q—mﬂlﬁ'ﬂﬁmﬂﬂﬁm?m? 48 T TETH HE 140 %wgiﬁquﬂmm
(A) v fHz : (A) 22
(B) =T W1 IR - (B) 23
(C) TN a4 (C) 26
(D) TH T Eife (D) 24
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20. An autorickshaw is moving at a speed of
40 km/hr for 2 hours and 30 minutes. If it reaches the
destination in another 1 hour, then the total distance
- covered by the auto will be :

(A) 120 km
(B) 140 km
(C) 160 km
(D) 200 km

w2 wHIE 40 kmv/hr SfETs 2 9951 30 fifiG
bR | AW (3 STEAEE SiEte 1 9% ¢ oy, e
wniEE it e Ay wfvws s

(A) 120 km
(B) 140 km
(C) 160 km
(D) 200 km

s At 40 fRefie s F nfa § 2 =2 30 fiz
STl & | el T e # aft 38 v e S, & el
g ga gt = .

(A) 120 %M.

(B) 140 fafa.

(C) 160 fR.

(D) 200 fwfa

U A 40 kmvhe F TifeEn 2 v 30 fafE
Tead | T3 T Y T 3R 31 | s wnEe, a3
el wid T ? '

(A) 120 km

(B) 140 km

(C) 160 km

(D) 200 km
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21. Each occupation has it own ; bankers,
lawyers and computer professionals, for example, all
use among themselves language which outsiders have
difficulty to follow.

(A) rewards

(B) jargon
(C) disadvantages
(D) merits

22. Which of the following are primary colours?
(A) Blue, Red, Yellow
(B) Red, Yellow, Green
(C) Yellow, Blue, Green
(D) Red, Blue, Green

(A) e, =T, 2=
(B) ==, drem, &1

fFaffe @F Fesfne G 28 39 =3¢
(B) ==, 254, A4S

(C) ==, T, g

it 77 B % i A e T E

(A) Sten, s, dien

(C) iem, Frem, &0

(D) &, Hten, w1

Frrfefes = i1 e a7
(A) e, T, aRen
(B) T, wee, sfc
(C) e, e, =
(D) T, e, wfch

/5. Opposite of “SYNTHETIC” is
(A) Cosmetic

(B} Plastic

(C) Natural

(D) Artificial
""'\:
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; dl'_:;mChﬂngi the fo]luwinginturfugativs sentence into 26. Complete the series:
in speech: LCM
He asked me “do you like music?” IAK, EEL, MDY,
(A) He said that whether I like music. (A) OEB
(B) He told that whether you like music. (B) NEO
(C) He asked me whether I liked music.
(D) He asked me did you like music. (C) PFQ
25. Which number replaces the letter ‘X’? LOP i
L ® ©
(A) 263 @ .
®) 253 ® ® ® Pifrerfs s7ojef e ¢
(C) 273 .
JAK, KBL, R '
D) 283 | " DEBL LCM, MDN
X % g @ s wae (B) NEO
ONON® (C) PFQ

@ | (D) MEN
(A) 263 @ @ 9

(B) 253
(C) 273
(D) 283
T J@en F g Fi
= fe& 7o fas F S8R X0 T 9H g JAK,KEL,I_EM,L-E}N.
(1) (s) (13) (A) OEB
@ | (B) NEO
(A) 263 o e
(B) 253 DRCRO o)
(C) 273
(D) 283
X' N TG H AT TR TD? -
G ® o e g e
@ : ST JAK, KBL, LCM, MDN,
: (A) OEB
(A) 263
il &) @ ® (B NEO
© 273 - N
D) 283 (D) MEN
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27. The word “Jhum" is meant for— 28. When you see any traffic signal, which sequence
(A) Political movement in the North East of of signal do you observe from top to bottom?
India (A) Red - Green - Amber
(B) Agricultural activities in the North East of (B) Green - Amber - Red
India

(C) Green - Red - Amber

(C) Tribal goddess of North East India (D) Red - Amber - Green

(D) Traditional dance form of North East India

b
X _
(e i T QRIS 32 41 2 2 s ¢ s i BrEs i SR 8o (40 A
(A) TEaed SRS MEATST T % T (T AT Gt TR ¢
7o TraTea I P | (A) e - 78 - T
(C) TEasd ©rarea SoErem (3l (B) g% - T - I

(D) Twmed ©Rrea A6feTe Al (C) #q@ - =141 - =

. . - (D

AT fe WS A N i AR A g
o v T & o i el e foma S €7 fraa ¥7

(A) WA ¥ gater # U Tt e
(B) uRe % aier # U iy FeFe
(C) vITa ¥ JaieR F ITenfae ool

(A) @ - B0 - den
(B) &1 - dten - =t
(C) 0 - & - dien

(D) WIRE % GEle 1 & T (D) = - e - B

! R TR N IAEE faern Wt g 9@, T F 57 go!
(A) s et T TR S W :ﬁmﬂ%ﬂﬂi

(B) W qaiet T3 Fiy FrRiwed B) mmqﬁ

(C) T e & = e Xt B

(D) R R TE (D) e, wee, B
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29. Which day is observed as ‘World Environment 30. Inthecomputersoftware terminology, PDF stands
Day’ each year? for 8
(A) Sth July (A) Portable Document Format
(B) 25th June (B) Portable Digital Form
(€) 5th June (C) Printable Digital Format

(D) 15th June . (D) Printable Document Format

W o Frtfts Ry iRt firae B sifre
e Computer Softwar-& PDF 32lifba #j¢fior e 27zt ¢

(A) STEEy A) Portable Document Format
(B) 25¢< &= (B) Portable Digital Form
/(’6 5% oW ' (C) Printable Digital Format
(D)-15% g (D) Printable Document Format

(D
ova wHET feaw o wiew feg o e s 22 :
(A) 5 e FHR WA i w=E et § PDF e &

(A) Portable Document Format

B) 25
EC; ; ;3 | (B) Portable Digital Form
©) 1593 . (C) Printable Digital Format
i (D) Printable Document Format
fervat e femra 7 fmn e 3 FIR ARATE W= PDF W 3 8
(A) 5emE (A) Portable Document Format
(B) 2591 (B) Portable Digital Form
(C) 54 . (C) Printable Digital Format
(D) 1597 o (D) Printable Document Format
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(A) Knowledgeable
(B) Omniscient
(C) Clever

(D) Intelligent

(A) 2 % hours
(B) 8 hours
(C) 7 hours

\/FB("'huurs
B *it=t <= Bi1%er 2 Wy o o A0S #i1ez

0 FB! AT T GO A Farw Ay
2%@%%1&?{%%%%%@3@?

(A) 2-% 9o
(B) =%y
(C) 79%m

14 9%

T Tt 9 | T U Y9 w2 e e
W & # w fom & o e w1 v A 2 L s e @
HARAT T AT

(A) 25 v

(B) 8%

(©) 7

(D) 14 ==

T3 9 iR I 9 g8 T TEe | W
alﬂ%mg?hwﬁmﬁﬂﬁrz—;-ﬂamaiﬁwﬁ%rm
el | ity s v 2w S gaae w5

(A) z%w -
(B) 8 5=
(C) 75=A
(D) 14 5=

33. The father was anxious — the safety uf
his daughter,

(A) at

(B) for

(C) about \\.i s
(D) with L,'E;E

34. Whenaplotoflandissold forZ 1 8,700, the owner
losses 15%. At which price the plot be sold in order to

gain 15%7 e
(A) 22,500 At
(B) ¥21,000 (-
(C) T25,300 ne |’\?§UDJ
(D) T 25,800 —52.5,
L ®
— 10
Gl wf T 18,700, bt i Fare wfig aifee

15% 1% 237 | =i T Brew & 3 T 15%
e A

(A) T22,500
(B) T 21,000
Gy T 25,300
(D) ¥ 25,800

T-ELLE ,_E'_E.a
"

I\ % THTFSH T 18,700 F 3= W 35F uifeiw
H 15% it afa it &1 15% o e 30 g w9 P
e WS fe?

(A) T 22,500

(B) T 21,000

(C) T 25,300

(D) T 25,800

Wty 1 T g T 18,700 T 4 HferRR 15%
91 15% w9 e @ it i W iy T8

(A) 22,500 -

(B) T 21,000

(C) T25,300

(D) T 25,800
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35. If P denotes ‘+', R denotes ‘x’, S denotes ‘-’ and
T denotes ‘/’(+) then what would be the value of
SROIPTSOT3IPG?

(A) 55
(B) 39
(C) 54
(D) 128

W P71 &, ‘4, R-97 e %', 597 G
RT-RHY Y/ (+) W STWSRIP7SOTIP 6
GER IR ok o

(A) 55
(B) 39
(C) 54
(D) 128

IfE P '+ 1 Hiea =@ ®, R % # giaa =@
RS mga =M g, T /(+) 91 gfem =@ & A
SROPT7SO9T3P6HEATEM:

(A) 55
(B) 39
(C) 54
(D) 128

I pH A4+, RAAG ', SHad orT=
ﬁﬁ',‘”(—c—}%ERQPT'SQTEPEH:Y"I'HEFEW?

(A) 55

(B) 39

(C) 54

(D) 128

14

36. Which of the following is not a session of the
Indian Parliament?

(A) Summer session
(B) Winter session
(C) Monsoon session
(D) Budget session

T G SRS AR ST W
(A) FeEm Sk

(B) Fre=siat iz

(C) T witraia

(D) TTEE i

0

T § H W VRS 5 w0 i T8 8o
(A) TreTses sAfiaem

(B) o= sAfusym

(C) T AAftEmm

(D) ==z arfudem

AU T VIR T =1 sifadem 27
- (A) TSHFRE fiEee

(B) Wi g

(C) =R s

(D) ai sifirdm
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37. Which one of the following gland is located very
near the brain?

(A) Pituitary gland
(B) Thyroid gland
(C) Adrenal gland
(D) Pancreas

@ oifEl TRTET TRow e w1, ¢ =5 e
Na) PR o
(B) «izame oy
(C) gt fy

(D) =P @

T F B o vify i & vad TacE €7
(A) Tl 1y

(B) urgtrse iy

(C) Bfgen vify

(D) A=

5 feua % Tify wfaea ged o 97
(A) frpged dfa

(B) urizE Uy

(C) gt wfy

(D) =

15
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38. Arrange these four districts of West Bengal from
North to South
(i) Burdwan
(ii) Bankura
(iii) Birbhum
(iv) Howrah
(A) (ii), (iii), @), (v)
(B) (i), (iid), (i), (iv)
(C) (iid), (@), (ii), (iv)
(D) (1), (ii), (iii), (iv)
ARSI Fe (e Te i wiE e
S S A ¢
(i) I
(ii) drgot
(iii) Faew
(iv) Zewl
(A) (i), Giid), (), (V) . )
®) (), (i), @), av) (/)
(C) (iii), (i), (i), (iv)
AD) (1), (ii), (i), (iv)

rEnTTE A fae S s A FFd
Hand | '
(i) e
(ii) =gz
(iii) #RYw
(iv) wE= :
(A) (i), (iii), (i), (iv)
(B) (i), (iii), (ii), (iv)
(C) (iii), (i), (i), (iv)
(D) (1), (i), (iii), (iv)
wivem agTes faeen weers SR AR 2fiw '
|
(i) =
(ii) e
(iii) =reqm
(iv) TEE ¥
(A) (ii), (iii), (i), (iv)
(B) (i), (ii), (ii), (iv)
(C) (iid), (i), (ii), (iv)
(D) (i), (i), (iii), (iv)

Official Website- karmasutroo.com


https://karmasutroo.com/

RB/CN/2016

39. Chﬂﬂg': the voice of the following sentence:
“Who is creating this mess?”
(A) By whom this mess is being created.
(B) Who has created this mess.
(C) By whom is this mess being created.
(D) By whom has this mess been created.

40. Choose the correct synonym of the word
‘Insurgency’.
(A) Rebellion
(B) Hostility
(C) Attack
(D) Enmity

41. A clock loses 5 seconds a hour. If the time in the
clock is set right on sunday noon, then what time will it
indicate on monday noon (i.c., the next day)?

{A) 12 : 00 Noon
(B) 11:58 PM
(C) 12:02PM
(D) 11:58 AM

GF G ufe =fs 9%m 5 ones F@ o ww )
A afeam 1oiea (1261 swm) wiefa s e o= crem
O G o (wdie wiaa i geie) w9fel 9 sy
et ¢

(A) 12 ;009 4is

(B) 11:58PM

(C) 12:02PM

(D) 11:58 AM

U HE uia w5 dEve g 3 ¥ 9 v v ame
Iﬁmqw@ﬂ%ﬁﬁﬁaﬁmwﬁr 1 WHER neEE
=1 FHE T B

(A) 12: 00 #7em

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM

R st g R A T B

Teaar 7eag 3 T, © UHER # 99 T 5y w1
TEES?

(A) 12°: 00 718

(B) 11:58 PM

(©) 12:02PM

(D) 11:58 AM
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42. Sum of two numbers is 45. Their difference is
1/9th of their sum. Their L.C.M. is
(A) 100
(B) 150
(C) 250
(D) 200

il A csrre 45 | FeAfod o e
I 1/9 e | Feigfba =1.A10. T &

\_££) 100
(B) 150 ey (L A%
(C) 250 v,
D) 200 .0

1 3T = AT 45 B | T SR T TR 5
1/931 aig ¥ | IR L.C.M. B :

(A) 100

(B) 150

(C) 250

(D) 200

% ST TR 45 B | FEE ST AT 7 1/9
W 9| I9H L.CM. F5e?

(A) 100

(B) 150

(C) 250

(D) 200

43. A person who helps another to commit a crime is
called

(A) Colleague
(B) Accomplice
(C) Assistant
(D) Gangster
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44. Introducing aboy, a girl said “He is the son of the

related to the girl?
(A) Nephew
(B) Cousin
(C) Brother
(D) Son-in-la

ﬂ’fl

pt rf

‘f[*’:

e

=27 B

97 (A Sifibe FaR T 93 B G v
& BT IS TR IR A |9 3 & i e iy
& (R T FEE L
(A) SRzl

AB) Frrge ol f&
) w2 ot

T TSeh o 9T S L T TSk A e, 8 T
T#mﬁﬂﬁmﬂa%l"mmﬁ%ﬁﬁuﬂ
7

(A) W

(B) FHU 9

(C) w§

(D) ==

e e e 2, TR S v, ) e
AT BRIH B B | T R FEHEY B?

(A) wiferst ‘

(B) W&

(€) i

(D) a1

RB/CN/2016

45, P, Q, R, S and T are five boys. Given that P is
taller than Q, R is shorter than P, S is taller than T but
shorter than Q, the tallest boy is

(A) P
(B) Q
() T
(D) R

~ P,Q,R, S, T zza e o, aft P, Q-4 (U=
=% 7; R, P-49 (40F I Z8; S, T-93 (4 =71 %
Q-3 (% (2B 2 ST T WA A I (R (P

(A) P
B) Q D -

(D) R F,\‘a,.p'“fa'

P,QR ST TI=ersh & 13k P, QA wal §,
RPEADAE S, TATH A QAT E g € a4
GENGEE RS :

(A) P

(B) Q

(C T

(D) R

P, Q,R, S, T 99 Fzre® &1 afz P, Q W= &,
R, P 9=1 81, S, T W1 o1/ 7% Q W51 B8 WU, Haf o]
T F 7

(A) P
®) Q
€ T
(D) R
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"146. The State with highest population density is
(A) West Bengal
(B) Bihar
(C) Uttar Pradesh
(D) Maharashtra

FAT (1 e Tyl e 2 3
(A) =AMpas

(B) ==

{C) Tameimm

(D) wEraig /@ |

o afve s e ' aen U
(A) df=msme

(B) fa@R

(C) IwR waw

(D) HERmE

T v SHEETT SRS T A
(A) af=m =g

(B) feeR

(C) I wed

(D) e
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47. Dipa Karmakar participated in which game in
Olympics?
(A) Athletic
(B) Swimming
(C) Gymnastics
(D) Boxing

o oA T oI I o et e eafegere ¢
(A) iR |
(B) From

ey fermioe

D) < @

Frferere & form Ge1 § <o sfar 3 s fergr an?
(A) T \

(B) =t

(C) Tamf=ag

(D) HerraTSt

< e, Shferfores 91 37 Sem s ferdds
foreir?

(A) Ty

(B) =t

(C) Tomfizam

(D) HFa

Foad
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48, Thesidesofatriangleareintheratioof7:9- 122The | = 50. 630items are divided among X, Y and Z in such
difference between the lengths of the largest and smallest a way that X gets thrice that of Y and Y gets
sides is 15 cm. The length of the largest side is | 5 times that of Z. Find the number of items received by

(A) 12cm iy X.

(B) 24 cm _ (A) 425

(C) 60 cm _ (B) 400

(D) 36 cm | (€ 450
(D) 475

G fagres AeeFm ST = 7.9 12|16
FATHTH T AL GIR FIGCH (RILB! I ST 15 om ZH, o7

AT T TR O 7 ¢ 630 &l X, Y 998 Z-49 0 Geind Btst
(A) 12 cm @eq T @ X, Y-99 (U foned a2 Y, Z-93 (A
(B) 24 cm sfpes f&FH e | X Foul e crfes
(C) 60 cm (A) 425
(D) 36 cm (B) 400
' : (C) 450
THEEEFAGT:9: 12%F T # € | JEwm v (D) 475
A AgHT % T 15 cm T | Fewd I F i e
(A) 12cm
(B) 24 cm
(C) 60 cm 630 a&g 1 X, Y Us Z 1 s wr & fawrfaa e
[D):36 oo s s0# - v v Mooz W%ﬁ?KﬁYﬁﬂ?ﬂmaﬁTTﬁZﬁﬁTﬂﬁﬁm
: . . ¥1 X =1 o =g Toei?
Tz e wg 7: 9 0 12 B HaE e 1 EaE (A) 425
B TER 15 cm ¥ | TEE w1 TR T ¢ ®) 400
(A) 12 cm (C) 450

(B) 24 cm / (D) 475
(C) 60cm S
) 36 cm y

49. Choose the correct one word substitution of the 630 =G 9T X, Y, Z 1 7w o ot
following sentence: XAY w1 fmmafy, yerz o Af| W, X #
“A decision on which one cannot go back”. i =g g ?
(A) Incorrigible F R (A) 425

(B) Irreplaceable - (B) 400 , f/ *
(C) Irrevocable - (C) 450 /
(D) Infallible ERERS- ) (D) 475 / -
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51. Ify=3x+ 12 and y = 5, then the value of x i 52. In India, supply of money is controlled by

(A) 317 (A) Ministry of Finance
(B) 7/3 (B) Reserve Bank of India
© -7 (C) Finance Commission
(D) -7/3 (D) State Bank of India

My =3x+ 1299y = 527, O@ x- AT 2 SlAA BRI ol et g e

(A) 317 (A) 99 w5s '
B m B) SRS s

(C) -7 (C) =< ot

(B) ~-773 (D) ©r®m G35 %

Ay =3x+ 12T y = S&, M x 5 77 BM
(A) 37

@

IR H 5 o e g Frdf frr s 2
(A) T warem

(B). %13 (B) et fiord ¥
g :;’B (C) fam smm
(D) WRHE =2 ¥
Ay =3x+ 12Ty = S %' FraFgFan TR TR TR et e e
(A) 3/7 | (A) fore e
(B) 7/3 (B) v o g
(© -7 (O) fae smim
(D) —7/3 (Dy i w2 ¥y
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53. When a number is first
I'st 1n
then reduced by 109, the numberf:reased by 10% and

(A) decreases by 19
(B) does not change
(C) increases by 19
(D) increases by 99

4= THAE AW AW 10% R
ol
AT =4, w7 71’ ,,,-ﬂ e

(A) 1% F91
@ Afafe 7z a1

(©) 1% gt -

(D) 9% ater
IS TFHE 1 10% w1 fear = o fiee 10% ==
fean s & = den g

(AY 1% F9 2 st

(B) THM T

(©) 1% =% S

(D) 9% =g wa

T3 WA AfE 10% T2 T it 10% werw o

(A) 1% 9 &2
(B) WHH g%
(C) 1% =g&
(D) 9% =zo
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54. Inacertaincode “PROSE”is written as “PPOQE™,
how is “LIGHT” be written in that code? :
(A) LIGHT
(B) LGGFT
(C) LGGHT
(D) LLGFE

i I AFSFHTE “PROSE” & “PPOQE”
T T O G HFSE @il “LIGHT” (3 Sfeira
14 ZR ?

(A) LIGHT

(B) LGGFT

(C) LGGHT

(D) LLGFE

Ll

fe e WA frfa & “PROSE” 9 “PPOQE” firray
S &, @ “LIGHT” =1 371 feran wmem?
(A) LIGHT
+BJ LGGFT
(C) LGGHT
(D) LLGFE

wIfe T3 wga fafa o “PROSE” =i “PPOQE"
ferd, “LIGHT” =1 =i fefrmn st Sifig=s?

(A) LIGHT :

(B) LGGFT

(C) LGGHT

(D) LLGFE
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55. Satyajit Ray Film & Television Institute is located
“at | i
(A) Ranchi
(B) Delhi |

//(6] Kolkata

(D) ‘Mumbai

nAEITG T R wre BRifeem 2FRRES wem
wfae
(A) #fe
(B) f&
(©) F=r=rel 0 x
(D) 5z

o wesiia 1 firen Tve defifaem =eege st from

(A) it
(B) Teeeh
(C) T
(D) Jrard

w14 fhen 1o Fefifaem swiege @ e

(A) Tt
(B) feeet
(C) et
(D) s

22

56. ELISA testisusedtodetectwhichof the following
disease?
(A) Cancer
(B) HIV/AIDS
(C) Brain tumor
(D) Malaria

ELISA (5% (@ 1% *FIG FA0S ALY FA ¢
(A) JFR

(B) 3. Wiz, f&. /3w @ |
(C) &= e '
(D) syttt

ELISﬁ#ﬁﬁﬁﬁﬁFﬂﬂnﬂ%nﬁﬁﬁifﬁqm
A &7

(A) FT
(B) U=, 3. Hrugg

(C) 31 W
(D) TfE

" ELISA %1 5l %7 fammeatt wnfn g2
(A) |
(B) W= 3. Hruzg
(C) 7 TR
(D) =
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57. The exact word which denotes the highest de gree
of comparison to the word “strong” is

(A) stronger

(B) strongful
(C) strongest
(D) strengthen

58. Choose the best prefix which matches with the
word “Spoken”? e S e
(A) De
(B) Out -
(C) Dis
(D) En

59, Fill in the blank with appropriate words given
below:

A police team was to the case.

(A) formed, following -
_(B) constituted, investigate

(C) committed, study

(P) located, adjudge

23

60. Evaluate the fol!uwingf
(WBIx3)—(V16x4)

(V16 x4) - (+/81x3)

Official Website- karmasutroo.com
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(A) 1
(B) - 11
(C) 11
'Iil"l'-‘}'—ll
Trea wmfe wm fFefa o 3
: | (JBIx3)-@16x4)
(W16 x4) - (/81%3)
- (A) 1
(B) =11
(© 11
(D) —1
(B1x3)-(16x4) o 3 Pt
(16 x4) - (/81 % 3) _ .
(A) 1
(B) -11
(© 11
™ -1
el fews s 1w e -
(/B1x3) - (16 x 4)
(/16 x 4) — (/81 x 3)
(A) 1
(B) —11
(©) 11
(D) -1
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